. Math 20-2
Radical Quiz 2 September 2019

1. Express as a radical in simplest form.
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2. Express as a whole radical.

a) 25
SN ¥x5
® NED)

3. Write the expression in simplest form.
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. 3. Write the expression in simplest form.
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4. Express each product in simplest form.
a) 2V10(3vZ ++/5) b) (7v3 -V6)(vV3 - 2V6)
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. 5. Simplify each expression - rational denominators in simplest form.
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. 6. Solve.
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7. Solve at least one puzzle:

the rest of the grid of numbers?

Each row, column and diagonal add up to the values shown. Can you log
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Sudoku

Two-by-Three With Six Possible Values
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Solve at least one puzzle:
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